A KL RE B

T4 HEPERBEk R v hkE L

PRk 2 88 A 1 6 H #UT

N R A AL 4 % i =

EHr 7 27 T 2 3, 914, 000 |FARHIRAiHs % FlEl > TV B 72
7T ARy /3— iz 3, 884, 550 [l RAits 2 FIEl > T % 728
bR e i3] 3, 867, 150 [l RAits 2 FIEl > T % 728
=R AL 3,915, 000
(RIFISR T2 Fiiz7) 3, 872, 000 [H A RAits 2 FIEl > T % 728
R —a— iz 3, 903, 500 [l HIRAits 2 FEl > T %725
(iR - A g L 3 iz 3, 912, 000 [l HIRAfits 2 FEl > T %725
(FRAL FiZ) 3, 910, 000 |FAEHIBRAFE 2 FlE - T 5728
(B =T 4, 187, 000

TEAGRE HERLR O BB S84 FR<)

¥4,350,000

SRR BRARS (2 Bl M OV 5 M B B 4 5 & B <)

¥3,915,000




